

$$b) \lim_{h \rightarrow 0} \frac{f(1-h) - f(1)}{h} = \lim_{h \rightarrow 0} \underbrace{\frac{f(1+(-h)) - f(1)}{-h}}_{\rightarrow f'(1)} = -f'(1) = \underline{-2}$$

$$c) \lim_{h \rightarrow 0} \frac{f(1+3h) - f(1)}{h} = \lim_{h \rightarrow 0} 3 \cdot \underbrace{\frac{f(1+3h) - f(1)}{3h}}_{\rightarrow f'(1)} = 3 f'(1) = 3 \cdot 2 = \underline{6}$$

$$\begin{aligned} d) \lim_{h \rightarrow 0} \frac{f(1+h) - f(1-h)}{h} &= \lim_{h \rightarrow 0} \frac{f(1+h) - f(1) + f(1) - f(1-h)}{h} \\ &= \lim_{h \rightarrow 0} \left(\underbrace{\frac{f(1+h) - f(1)}{h}}_{\rightarrow f'(1)} + \frac{f(1) - f(1-h)}{h} \right) \\ &= \lim_{h \rightarrow 0} \left(\underbrace{\frac{f(1+h) - f(1)}{h}}_{\rightarrow f'(1)} + \underbrace{\frac{f(1-h) - f(1)}{-h}}_{\rightarrow f'(1)} \right) = 2 f'(1) = 2 \cdot 2 = \underline{4} \end{aligned}$$

6. Polynomfunktion ableiten

Exim. $f(x) = x^2$

$$\begin{aligned} f'(a) &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} = \lim_{x \rightarrow a} \frac{x^2 - a^2}{x - a} \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow a} \frac{(x-a)(x+a)}{\cancel{x-a}} \\ &= \lim_{x \rightarrow a} (x+a) = a + a = 2a \end{aligned}$$

$$f'(2) = 2 \cdot 2 = 4$$

$$f'(5) = 2 \cdot 5 = 10$$

$$f'(12) = 2 \cdot 12 = 24$$

$$f'(\pi) = 2\pi$$

⋮

$$f'(x) = 2x \quad \text{funktion } f \text{ ableiten}$$

Merke: $D x^2 = 2x$

Derivationsregeln:

1. $D k = 0$, k reell

2. $D x^m = m x^{m-1}$

3. $D(k \cdot f(x)) = k D f(x) = k f'(x)$, k reell

4. $D(f(x) + g(x)) = D f(x) + D g(x) = f'(x) + g'(x)$